Math 54 Midterm 3 (Practice 4)

Jeffrey Kuan
August 5, 2019




- Problem 1 (30 points)
Part (a)

Show that T(z1, s, x3) = (—z3, z,,

—Z5)'is an isometry on R3, [15 points)
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Problem o (30 Points)

Consider the linear Oberator 7~ . M,

2> M,,., given by
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Calculate the determinant and trace of 7.

Calculate charp(z).
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2 O’th%my diagonalize the'dhe 4 0 .

roblem 3 (30 pPoints)

t Proofs. [15 points each]
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Problem 5 (20 points)

Find all least Squares solutions to the System Ax = b where
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i S2H =214 6 -8 0
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and b = ol What is the least Squares error?
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